[kg] Article n°®

DoKart plus

DoKart plus

(A) Brace stirrup 8
4 pcs.
Galvanised
Width: 19 cm

Height: 46 cm
Width-across: 30 mm

1448.0 586265500
2.7 582751000

Yellow

Length: 172 cm C E
Width: 132 cm

Height: 154 - 327 cm

Follow the directions in the
"Operating Instructions"!

Extension set for DoKart plus
Auslegersatz DoKart plus

50.0 586266500

Galvanised
Length: 120 cm

Follow the directions in the
"Operating Instructions"!

Shifting trolley DF
Umsetzwagen DF

included in scope of supply:

(A) Positioning lever for shifting trolley DF

(B) Brace stirrup 8
4 pcs.
Galvanised
Width: 19 cm
Height: 46 cm
Width-across: 30 mm

566.0 586080000

6.0 586063000
2.7 582751000

Galvanised

Length: 181 cm C E
Width: 130 cm

Height: 154 - 303 cm

Follow the directions in the
"Operating Instructions"!

Extension for shifting trolley DF

Ausleger fir Umsetzwagen DF

40.0 586015000

Galvanised
Length: 128.4 cm

Follow the directions in the
"Operating Instructions”!

Attachable drive unit DF
Andockantrieb DF

512.0 586062000

Painted blue

Length: 100 cm C €
Width: 100 cm

Height: 130 cm

Follow the directions in the
"Operating Instructions"!

Stacking frame DF
Aufsatzrahmen DF

82.0 586079000

Galvanised
Length: 134 cm
Width: 130 cm
Height: 75 cm

[kg] Article n°
1134.0 586233000

Transport fork DM 1.5t adjustable
Umsetzgabel DM 1,5t verstellbar

Galvanised

Length: 634 cm C €
Width: 245 cm

Height: 507 cm

Delivery condition: folded

closed

Follow the directions in the

"Operating Instructions"!

Vertical extension DM 1.5t 3.30m
Vertikalverlangerung DM 1,5t 3,30m

Galvanised
Height: 352 cm

240.0 586235000

Extension clamp H20 for fork 1.5t 4.5 586236000

Aufsatzklemme H20 fiir Gabel 1,5t
Galvanised
Height: 45 cm

Extension profile H20 for fork 1.5t 34.1 586237000
Aufsatzprofil H20 fir Gabel 1,5t

Galvanised
Length: 83 cm
Height: 52 cm

Lifting extension bracket DF 1t 263.0 586068000

Ausleger DF 1t

“1

Transport fork DF 1t 0.90m
Gabel DF 1t

Galvanised

Length: 336 cm C E
Width: 66 cm

Height: 309 cm

Delivery condition: folded
closed

Follow the directions in the
"Operating Instructions"!

220.0 586069000

Galvanised
Length: 411 cm C €
Height: 58 cm

Follow the directions in the
"Operating Instructions"!

Dokamatic lifting strap 13.00m 10.5 586231000

Dokamatic-Umsetzgurt 13,00m

G

Green

Follow the directions in the C E
"Operating Instructions"!

Lifting hook DF 5.9 586077000

Umsetzbligel DF

Y .

Galvanised

Length: 42 cm C E
Width: 20 cm

Height: 36 cm

Follow the directions in the
"Operating Instructions"!



[kg] Article n°®

Table Lifting System TLS

Basic unit TLS 2336.0 586301000
Basiseinheit TLS

Length: 431 cm
Width: 242 cm
Height: 274 cm

Follow the directions in the
"Operating Instructions"!

Lifting platform TLS centre 3.00x1.60m 310.0 586307000
Hubbiihne TLS mitte 3,00x1,60m

Height: 139 cm

Lifting platform TLS back 3.00x1.60m 376.0 586308000
Hubbihne TLS hinten 3,00x1,60m

Height: 139 cm

Protective grating TLS 1.80m 22.0 586334000
Schutzgitter TLS 1,80m

Galvanised
Length: 141 cm
Height: 121 cm

Protecting metal sheet TLS right 12.0 586309000
Protecting metal sheet TLS left 12.0 586310000
Schutzblech TLS

Painted yellow
Length: 85 cm

‘@ ‘ Width: 32 cm
Height: 73 cm
qf g

Lifting mast TLS 1.50m 82.0 586328000
Hubmast TLS 1,50m

Galvanised

Supporting profile TLS 5.15m 210.0 586317000
Abstutzprofil TLS 5,15m

y Galvanised

[kg] Article n°®
Pressure strut TLS 3.70m 70.0 586318000
Druckstrebe TLS 3,70m
Galvanised
g
&
Floor support TLS 0.40m 39.0 586315000
Deckenauflager TLS 0,40m
Galvanised
Length: 72.5 cm
Width: 32.1 cm
Height: 22.3 cm
Adjusting device TLS 10.0 586336000
Justiereinheit TLS
Galvanised
Length: 42 cm
Width: 16 cm
Height: 16 cm
Cable routing TLS 2.0 586333000
Kabelfiihrung TLS
Galvanised
@ Length: 35 cm
Lifting mast anchoring TLS cross bar 0.40m 92.0 586329000
Hubmastverankerung TLS Traverse 0,40m
Galvanised
/ Length: 450 cm
Lifting mast anchoring TLS wall 15.5 586372000
Hubmastverankerung TLS Wand
Galvanised
Length: 52 cm
Lifting mast anchoring TLS strut 22.0 586331000
Hubmastverankerung TLS Strebe
Galvanised
Length: 153.5 cm
Width: 50 cm
Lifting mast anchoring TLS mast connection 15.0 586332000
Hubmastverankerung TLS Mastanschluss
Galvanised
Length: 72.6 cm
Width: 66 cm
Base profile TLS 2.14m 28.0 586312000

Bodenprofil TLS 2,14m

™~

Galvanised



[kg] Article n°®

Strut for base profile TLS
Strebe fur Bodenprofil TLS

Galvanised
Length: 257.3 cm

11.8 586313000

Beam for landing level safety gate TLS 0.40m
Trager fur Etagenture TLS 0,40m

Galvanised
Length: 344 cm

35.0 586319000

Landing level safety gate TLS with handle
Etagentlre TLS mit Griff
Length: 1563 cm

Height: 126 cm

33.0 586321000

Landing level safety gate TLS w. limit switch
Etagentire TLS mit Endschalter

Length: 153 cm
Height: 126 cm

32.0 586322000

Switch box TLS ground control
Schaltkasten TLS Bodensteuerung

Height: 53 cm

7.0 586323000

Switch box TLS landing level safety gate
Schaltkasten TLS Etagentlre

7.0 586324000

Height: 53 cm
Control cable TLS 20.0m blue 4.0 586303000
Control cable TLS 20.0m red 4.0 586304000
Steuerkabel TLS
Bar for limit switch TLS 5.0 586325000
Endschalterschiene TLS

Galvanised

Length: 186 cm

Lifting cross-bar TLS 10.50m
Hebetraverse TLS 10,50m
Galvanised

Length: 76.5 cm

19.0 586327000

[kg] Article n°®

Lifting cross-bar TLS 15.00m
Hebetraverse TLS 15,00m

64.0 586373000

Galvanised
Length: 189 cm

Lifting beam TLS 67kN
Hebetrager TLS 67kN

-

68.0 586326500

Galvanised
Length: 338 cm C E

Follow the directions in the
"Operating Instructions"!

Cable-reel set TLS 100.00m
Kabeltopfset TLS 100,00m

S

133.0 586371000

Galvanised
Height: 142 cm

Doka 4-part chain 3.20m
Doka-Vierstrangkette 3,20m

A

15.0 588620000

Follow the directions in the
"Operating Instructions"! C E



[kg] Article n°®
Tool box TLS 17.0 586337000
Werkzeugbox TLS
consisting of:
(A) Combination wrench 8 0.03 586343000
(B) Combination wrench 10 0.04 586342000
(C) Combination wrench 13 0.06 586341000
(D) Combination wrench 17 0.16 586340000
Length: 20 cm
(E) Combination wrench 19 0.14 582837000
(F) Combination wrench 22 0.20 582838000
(G) Combination wrench 24 0.25 582839000
(H) Combination wrench 30 0.43 582840000
() Reversible ratchet 3/4" 1.5 580894000
Galvanised
Length: 50 cm
(J) Box nut 50 3/4" 0.81 581449000
(K) Universal cone spanner 15.0/20.0 0.90 581448000
Galvanised
Length: 9 cm
Width-across: 50 mm
(L) Box nut241/2"L 0.30 586364000
(M) Extension 20cm 3/4" 0.68 580683000
(N) Set of ball-head hexagon-socket screw keys 0.60 586346000
(O) Slot-screw screwdriver 0.6x3.5 0.20 586344000
(P) Slot-screw screwdriver 1x5.5 0.20 586366000
(Q) Box spanners 1/2" set of 29 5.6 586345000
(R) Box nut 19 3/4" 0.20 586375000
(S) Box nut 24 3/4" 0.21 500679030
(T) Box nut 27 3/4" 0.27 586376000
(U) Box nut 30 3/4" 0.33 586377000
i LS
ﬁ ﬁ o © o
® © ®W ®
>
\y/ o @ﬁé
7
Torque wrench 3/4" 75-400Nm 2.3 586374000
Drehmomentschliissel 3/4" 75-400Nm
Galvanised
Length: 69 cm
Maintenance toolbox TLS 6.1 586369000
Wartungs-Werkzeugbox TLS
consisting of:
(A) Grease cartridge TLS 0.46 586368000
(B) Filling press TLS 0.93 586367000
(C) Thickness gauge set 0.05-1.00mm 0.09 586350000
(D) Pliers for external circlips 40-100mm 0.32 586348000
(E) Water pump nut pliers 250mm 0.32 586347000
(F) Screw dr. f. recessed-head scr. PZ 2 0.15 586351000
(G) Combination wrench 14 0.09 586349000
(H) Digital multimeter TLS 0.22 586353000
(I) Dummy plug TLS 4 poles 0.04 586352000

[kg] Article n°®

Brake-disc pull-off tool TLS D200
Scheibenabzieher TLS D200

Height: 27 cm
Width-across: 22 mm

4.3 586370000





